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SLOPE FOIrmuLd
acennal  WAIM-UP

COMPLETE THE EXPLOTATION IN YOUr

wdrtn-up 1 SLOPe BOOK (UNDEr THe FOrmuLa Ta.).
(EXPLOraTION)

EXPLOITION: TO INVESTIGATE d SHOITCUT FOI FINDING THE SLOPE OF d
Line.
1. WHATISTHE I1S€ FrOm POINT A TO POINT B?

10
HW CHECK 2. WHATISTHE run From pOINT A TO POINT B?

NOTes (SLOPe 3. WHaTISTHe SLOPE OF THE LIne? ) o B-'(B, 6)8 : 7)

4. EXPLAINHOWYOU COULD Have FOUND THE r1se BY UsING onLy

y

BOO K) THE J4COOTDINTES OF THE TWO POINTS, WITHOUT SERING THE A2, 3)
GraPH.
0 5 10~
HOMEeWorK 5. EXPLAIN HOW YOU COULD Have FOUND THE FUN BY USING ONLY
TH ¥:COOTDINGTES OF THE TWO POINTS, WITHOUT SeRING THe

GraPH.
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Answers:
1. m=-2
2. m=1
a3 m= j
3 x| ¥
4, 3.m=-3 possibletable 'i' i11
2| -2
1 £
b.m= Fi possible table al-2
4]-2
g2 1-1
5 om=1
2
a.
X Independent Variable: number of hours
hours miles Dependent Variable: number of miles
2 100
= - = .
3 150 Slope= T=5I:I miles per bowr
7. B
2 X ¥
g5 m== 2
3 ] 2
9. Answers willvary: possible answer 1 4
@0 2 ]
L}
. 3 ]
4 10
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Fifding SLOYL. ..

EXPLOIATION: TO INVESTIGATE d SHOITCUT FOT FINDING THE SLOPE OF d
LINe.
1. WHATISTHET1S€ From POINT A TO POINT B? L‘.

2. WHATISTHE run from POINT ATO POINT B? b

3. WHATISTHE SLOPE OF THE LIne? - =

- cmm———
Lo 3
4. EXPLAINHOW YOU COULD HAVe FOUND THe rise BY USING ONLY
THe J*CO0rDINgaTes OF THe TWO POINTS, WITHOUT SeeinG THe
GraPH.

. o P 5 P X
U bTaCY \y covdioniey
5. EXPLAINHOWYOU COULD HaVe FOUND THe run By USING ONLY
THe X-C00rpinaTes OF THe TWO POINTS, WITHOUT SeelinG THe
GraPH.  \g 2
L _SVONRCY X chovBiase
I GIVEN TWO POINTS (X,Y,) anD (X,Y,) FIND THE SLOPe (M) 1
. |
! 5lepe Formula: m = \'j‘z. U :
—_— I
| .
e Xz "X ... !
DeTermine THe SLOPE OF THe LINE THaT Passes THrOUGH eacH SeT OF POINTS.
1. (2,3)and (2.7) 2. (-32,-4)and(52,-1)
m= 3'..-_3-— Xy W Xa Yo
q4-2 m= A\t 2

6.26*%3% g5

|2
3. (*64)and (51 2 4. (10,8),(—6,-2)and(-1§%5_

Pl Kk =
M= ——~ 0O %

P o aed o |8
S\-~0k, M)
5. (-2,3)@ — | =2

B
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DeTermine THe SLOPE OF THE LINE THAT PASSES THIOUGH €dCH ST OF POINTS.
6. [~ | I i : 7.

ER S SN - x | 0 [ 2 [ 5] 6
; -t : 5 13
T 3?&35'%&% y | 1 11 | 1
"""""""""" i’% ;7 ; ;h:‘”lx’
S T S -> ,,,,,,,,, \\ YA \ﬁ\ X’L 9?,
SESEsEasmmmenn 2\ %
] ] i ] ] G‘(\t:' ———:"_ ——
S \
R - I o
30

8. THE GIdPH SHOWS HOW MUCH WaTer IS 1N d reservoir ar DIFFErent Times. Fiinb THe SLope
Of THE LINe anb 2XPLAll WHAT THE SLOPE rePresents

(20, 350D) 3ne (6 )?,mb)

Xy \‘3 \ % 3000 E(ZO' Sy
2 2500
am—'zm _ _-'@ — 26 @ 2000 '

- — = — | 2 1500 4460, 2000)
M= =36 a0 40 I

~ 1000
]
£ 500
&

0 10 20 30 40 50 60
Time (h)

DeTermine THe vatrue O r SO THe I_InE THAT PE]SSES THFOUGH €dCH PAlr Of POINTS Iix THG\
avenstore.  poivyr— S| o?e el Yy, =

1

9. )((9 r)and§(63\)5m——— ()1:»4\)sand ’%m:_i

3

O
0=\ v-j = -1
- -3 o
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ex\ TidechH

ODDS W s
Algebral - Lhit 3

Practice — Slope Formula pp 320-322
Mame Date Period

Label each ordered pair. Determine the slope of the line that passes through each set of points.

1. {8 and (29 2. (-5, 8)and (5, 2) 3. (9,2 (3, -1)and (-5, 5

4. i % ~Dyand (-2 %,-5) 5. (3.4, -3.2)and (@ O) 6. (5, -2) and (8, 2)

Determine the value of #so the line that passes through each pair of points has the given slope.
7 (5,7 and 2, -3 " = g, 4, -5y and i, -13) m=48

|
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Algebral - Lhit 3

Each graph or table shows a linear relationship. Find the slope
=h 10.
¥
82
76
70
£
2 | 58

g Ll TR [ 23

Identify the independent and dependent variables, then find the slope of each line and tell what it

represents.
10 . . » . " 24
’ . £ 20
. .I-'n.ij:- E 16
6 E’* 12
Z . (30, 10)
£ T s
' (2. 4) i 4
3
5 ¢ 10 20 30 40 50
Time (days)
2 3 4 s &
Boxes Sold
Independent variable: Independent variable:
Dependent variable: Dependent variable:
Slope: Slope:

13, During the last four years, Jimmy visited 26% of the S0 states in the US, How many states did he visit?



8 Slope Book.notebook November 07, 2013

1. Mark works full time as a busboy at a local restaurant. He earns $6 per hour and then an
additional $3 per hour for each hour of overtime (every hour he works over 40 hours per
week). What is the independent variable in this situation?

A. Salary per hour
B. Hours of overtime
C. Hours worked

D. Total salary

2. The number of gumballs, g, that can be packaged in a box with a volume of V cubic
units is given by the equation g = 40V +15. What is the dependent variable in this

situation?

A. Number of gumballs
B. Volume of the box
C. 15

D. 40

3. Jake works as a sales representative. He earns $1,275 per month plus an 8%
commission on his total sales. What is the independent variable in this situation?

Total sales

Commission earned
Money earned per month
Percent of commission

onw
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